12

12

11

11

100

10

1729

100

1735

100

3490

10

1000

1000

1000

134

Bl = =
B B B
2 /\A H.
g \/’_\ 5

—t

50

[oI el o]

1829

[oI el o]

[oI el o]

70

1
Fi
G
F
E
//_\
D
O~ @ ‘
N
1
1
14,5
\// C
DETAIL A
SCALE 1:2
B
01
FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED
MATERIAL A
CUSTOMER DATE 4-3-2021  RACK ARMS & PARTS RAL 9005 F.Str. SD
DESCRIPTION SCALE 1:15 LOUVERS RAL 9005 F.Str. SD
PROJECTNR 210128 ENGINEER  JM PLASTIC PARTS Black
Lissenveld 65F s©;:sp?;c;v::yg;the QTY '| LOUVERTYPE DRAWINGNUMBER ~ SHEET = SIZE
NL 4941 VL sunsh ield and shal STATE Approved 150E Ext 2 ] O] 28—0] —OOO 1:4 A0
Raamsdonksveer mfe?mT%7 REV 01 US PROJECTION

uplicated, frans:
The Netherlands nitted or usedin an
Tel 1431162435652 manner without

e-mail :info@sunshield.nl
SSSSSSSSS




12

12

2446

_\[

2600 Push Block

11

11

10

10

3220 RA

1745 Drive Tube

9 8
V) d
O
o [\
o
m {
0
1/
1840 Drive Tube
9 8

140

96

uoioaliq buisop

H
G
F
E
D
SW-File Name (File
ITEM NO.| QTY. Name) ( DESCRIPTION Comment 2 C
Rack Arm 65 mm L-System, Pitch _
] 3 1210128-01-100 140 mm (96) L=3220 (96)
2 ] 210128-01-501 Drive fube 35 mm L=1840
Omega H-70-L, 28x68x31x68x28 x _
3 12 |14 620 3 mm, 1g=30mm L=30
4 ] 45813 22 Motor Kit 13:1 IO/RTS
5 1 210128-01-502 Drive fube 35 mm L=1745
6 *12*% 1908 DIN 125-1A Plain Washer M8
7 *12*% 910 DIN 934 Hexagon Nut M8
B
8 *12*% 911 DIN 6798-A Lock washer M8
9 x12% (934 08 20 Hammer Head Bolt M8x20 (Type
28/15)
Somfy SUNEA SCR 40 10O,
10 T 28143 13/10/230V, 5m white cable
Hirschmann Set STAK/STAS-2
I T [28965 (Stak/Stas/clamp)
Stak/Stas Protecting Kit (incl.
12 1 158988 Tube, Plugs & Bracket)
(Ig=250mm)
13 23 |210128-01-402 Louver 150E L= 4250
Somfy Situo 1 10 Pure Transmitter, ol
14 ] 28 161 White
FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED
MATERIAL A
CUSTOMER DATE 4-3-2021  RACK ARMS & PARTS RAL 9005 F.Str. SD
DESCRIPTION SCALE 1:10 LOUVERS RAL 9005 F.Str. SD
PROJECTNR 210128 ENGINEER  JM PLASTIC PARTS Black

©This drawing is the QTY '|

sole property of

NL 494] VL Sunshield and shall STATE Approved
Raamsdonksveer | no! be copied.

duplicated, trans- REV 01
The Netherlands mitted or used in any

Tel 1 +31162 435 652 manner without

Lissenveld 65F

Web : www.sunshield-global.com written consent of
e-mail : info@sunsh ield.nl

LOUVER TYPE DRAWING NUMBER SHEET SIZE

150E Ext 210128-01-000 24 A0

US PROJECTION



11 10 % 8 7/ 6 5 4 3 2 |

269

250 226 Top oS 234

AV

TV

Imensions

3275 Max. D

3232 Covered by Louvers

70

-

B.1

4250

m D
N ¢
@)
0,
-
(@)
;I
(¢))
(@)
(o g
S B
01
FASTENERS FOR INSTALLATION EXCLUDED (third party) FASTENERS FOR SYSTEM ASSEMBLY INCLUDED
MATERIAL A
CUSTOMER DATE 4-3-2021  RACK ARMS & PARTS RAL 9005 F.Str. SD
DESCRIPTION SCALE 1:15 LOUVERS RAL 9005 F.Str. SD
PROJECTNR 210128 ENGINEER  JM PLASTIC PARTS Black
Lissenveld 65F if‘:sp?;c;:i:ygoisfthe QTY 'I LOUVER TYPE DRAWING NUMBER SHEET SIZE
NL 4941 VL Sunshield and shal STATE Approved 150E Ext 210128-01-000 3:4 A0

not be copied,
Raamsdonksveer dupieaton, rans. REV 01 US PROJECTION

The Netherlands mitted or used in any
Tel  :+31162 435652 manner without
Web s wwwsushielc-globalcom | i

11 10 9 8 7/ 6 S) 4 3 2 1



12

12

11

11

10

| S M — 1 L —J L — 1 L — 1 1 LS — 1 L — 1 1 —J L — 1 L — 1 1 — 1 L — 1 L — 1 1 — 4 L — 1 L —J L — 1 L — 1 L ~J L T

Rl

L

4250

10

uoioaJiqg buisop

FASTENERS FOR INSTALLATION EXCLUDED (third party)

MATERIAL
CUSTOMER
DESCRIPTION

PROJECT NR

Lissenveld 65F

NL 4941 VL
Raamsdonksveer
The Netherlands

Tel 1 +31162 435 652
Web : www.sunshield-global.com
e-mail : info@sunshield.nl

210128
©This drawing is the QTY

sole property of

Sunshield and shall STATE

not be copied,

duplicated, trans- REV
mitted or used in any

manner without

written consent of

Sunshield

DATE 4-3-2021
SCALE 1:10
ENGINEER ' JM

1
Approved
01

RACK ARMS & PARTS

01

FASTENERS FOR SYSTEM ASSEMBLY INCLUDED

LOUVERS
PLASTIC PARTS

LOUVER TYPE

150E

US PROJECTION

Ext

RAL 9005 F.Str. SD

RAL 9005 F.Str. SD

Black

DRAWING NUMBER

210128-01-000

SHEET SIZE

4.4 AO



	Window Frame
	Drawing View1
	Drawing View3
	Drawing View22
	Drawing View26
	Detail View A (1 : 2)

	Rack Arms
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10

	System
	Drawing View11
	Drawing View13
	Drawing View14
	Drawing View27
	Drawing View35
	Drawing View36
	Drawing View37

	Louvers
	Drawing View16
	Drawing View18
	Drawing View21


